Math 1312
Section 3.1 review & Section 3.2
Congruent Triangles

Example 1
Refer to quadrilateral DAVE.

a. Name the included side farl and5.

S
b. If 0610010, andDC O VC, thenADCA DAVCE by A g‘k
<2 = 24 (O.b Vep-‘n‘cols
c. Giventhatl7 011, AD OEV, andDC O VC. CanAADC OAEVC? Explain.

( ven that in pb
Example 2 CA A '9>

a. Name the included side farl andl4.
b. CT isincluded between what two angles?
<% «||

c. InAFDR, name a pair of angles so thatis not included.

<lecd o «2 224
d. If01006,04 003, andFR DE,thenAFDRDASRD by AAS

e. IfO040009, What sides would need to be congruent to shB@R [JA CDT?
(Srsd FD=Epz DREDT

f. If RS O TSandDR O DT, name a pair of angles that would create an SAS

lationship.
relationship 45;:4 |2_




Example 3

Given: CD || AE, CB OEB C

Prove: AABE 0O ADBC

E
Statements Reasons
I.CDIAB cBXER| 1 Given
2. <1= 2 2 2. Var‘l'fcqlés.
3 < 2l 3 A Ted <2< o dh

Il lines.

y. n ABES A Dic 4 Agfr

CPCTC - Corresponding Parts of Congruent Trianglesare Congruent

Once we prove two triangles are congruent, we can state that any corresponding parts
are congruent by CPCTC.



Right Triangles

Principle HL : If the hypotenuse and a leg of one right triaragke congruent to the
hypotenuse and corresponding leg of another rigiridle, then the triangles are

congruent.
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Example 4
These triangles are congruent by HL. Find theesf “x” and “y”. X = lq
2x-|
FD = 73 D 1 y=23
DE =37 \ By+
PQ =2x-1 4 51
RP =3y +4 ;"
E O R
31+1\=75 2x -1 =37

2 =6 2x= 25
V=23 x=19



Pythagorean Theorem:
The sum of the squares of the lengths of the Iégsright triangle (‘a’ and 'b' in the
triangle shown below) is equal to the square ofehgth of the hypotenuse ('c’).

In other wordsa? +b? = ¢?

Note: Since we are working with lengths of sides hiér@” = p, then x = \/E (we only

need positive square root. 5 4 5
Example 5: E , -
a) Findcifa=4andb=3. LE)) =25

& st‘ =25

b) Findb if a=15andc= 17. Q
(a) c*= a*+b> <
2 2 2
c =@) () ODB 2. RO
\?ﬁﬁzs 7> = 1B
Ez:- \71“ \-bz-
<5|L\|5> = 2 249- 225
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